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While making a cake for Your birthdal, You notice the
recipe serves 8 people. Knowing that You will have 12
people at Your party, You must increase each o‘F the?

ingredients. . .
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The Tricky Pr'opor"ribn / Rate Word Problem Challenge!

" Some of these problems are tricky, some are not. This makes the tricky problems even trickier, since you
don't know which ones are tricky! Follow the instructions for the problems below. Show all your work,
Don't forget unitsl The winners get the thrill of knowing they are ratio/rate/proportion masters

Use proportions to solve problems 1 - 4 below:

L Onedqy Farmer Brown counts his chickens and his eggs. He finds the ratio of
<chickens to'eggs is 7:12. If there are 77 chickens, how many eggs are there?
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' 2. The ratio of laptop computers to desktop computers af a middle school is 8 fo 5.
If there are 40 desktop computers, how many computers are in the school?
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3. The ratio of\walnu%msfo illk chocolate chips in a recipe for chocolate chip
brownies is 5 To B. A particular batch of brownies has 35 walnuts in if. The sum
of the number of walnuts, milk chocolate chips, and white chocolate chips in this

batch(js 123) How thany white chocolate chips are there in this batch?
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4, If the average tween complains about 13 things every two our's, how many
hours will it take to reach 195 complaints?
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The Tricky Proportion / Rate Word Problem Challenge!

Use proportions to solve problems 5 - 8 below:

5. The ratio of cups of flour to cups of cooking oil in a cake mix is 3:8. The ratio
of cups of cooking oil to cups of water is 6 to 5. There are % cups of flour
required, How many cups of water are required?

6. If the ratio of students with green shirts to fotal sfudents ina classis 3 to 8,
and are 12 students wearing green shirts, how many are there without green

" shirts?

7. At Betty's Bouncing Baby Care, the ratio of really dirty diapers to mildly dirty
diapers used is 4 to 10, If there were 28 really dirty diapers used on.a
particular day, how many total diapers were used?’ :

8. Assume the ratio of really dirty diapers to mildly dirty diapers at Betty's
remains at 4 to 10. If there are 308 total diapers.used in a 3-day period, how

many of them are reaily dirty? .
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